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15,000, 00021 *37H A*23| 90,000
0FFQL|(Z24XI) X2l
900, 0002 %2 Ax 122 21,600
QMR SR AT HY|2A
400,00024%1,402m 560,800
0RAE EFMA| SEUX BHTAF
70,000,000 %271 A 140,000
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SN ABtaE Dt
HEH: ARG Al 2P
SRl ARG H HARAADE] L 2 (ASTAIISSHS|H|) CEEED
SN - H . S(3H) - NBAR - BES O bl e RS2
OSHAF A HHAAHI WHIZAH
32,500,000 *47H A 130,000
OMEXSZ IHLUMAH QHE
7,000,0002%2CH 14,000
OF 42 2
800,000 9 A 7,200
OCCTV RX|2t2ld] 450,000 %57 I A 25,650
OSEEEX, K|, B X B4
14,000,0002 23] 28,000
OF, B4& SFFYI(EHID, LI2EHl §)
8,000,00024*30H A*23] 48,000
Ot AIEES HI|, HY M A2 (AEAM
ESEHHSE 9 2)4A)
35,000,0002%23] 70,000
OXILASE OFMAH| AX| ZAHQHEY, oF
L2t 5) 9,000,000 32 27,000
03 Al&=CHH] 4,69 5,400 ATO4
OAIE 20| 1,304,250, 0002*0 . 36% 4,6%

MXCAE S22 1,889,743 1,887,902 1,841
101 o1 24] 147,960 160, 199 A12,239
M IIH2Z2XEES 147,960 160, 199 A12,239

OatetE H2| HaE 147,960
0HIZHD| A& QI
1,00020%12,000& %122 144,000
0NEZE 144,000,000 *1.75% 2,520
0AHTHE 144,000, 0002 * 1% 1,440
201 LB 306,842 294,682 12,160
01 Al22t2IH] 64,052 58,432 5,620
02287 ADE
250,0002*30H A% 12 9,000
OJILE LU HiX PLIAHIRAL2T
170, 000241304 Ax 122 26,520
OABIEE AR DXIA o1
902*13,00001* 122 14,040
OM%C XN EHR TRIE ARE
300,00024%33] 900
OXIZEDI 01B2R23 120,000 %122 1,440
OXEHE dRHRl 248
80RIx1,20024* 12 1,152
OFEHE SLAIAL SX| B2
1,000,000 1,000
OFEHR LLAAE N RXS2H]|
10,000,000 10,000
02 2229 242,790 236,250 6,540
o222 < HA 189,000
0FI|LB(IIAE) 99,000
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SA: AGEE D
HEH: ARG Al 2P
SRl ARG H HARAADE] L 2 (ASTAIISSHS|H|) CEREN
SA - ZE - SRI(E) - MIRAY - BES Ol b HIDS
0 AP A (30082)
110,0002%307H A* 122 39,600
0 GHE (30004 )
110,0002%307H A* 122 39,600
o AIE A (107HA)
110,00024% 157 Ax 122 19,800
0&IILB(SH)
200, 0002%3004 A* 122 72,000
0SAIRB(FAAH2I)
2,500 *6007H A* 122 18,000
Oatet 2T 83|H|(A4T) 990,000 9%
OaE XN s QERS
4002%11,000S+128 52,800
NEGEETTE] 1,433,141 1,427,621 5,520
01 AIZHI 1,428,000 1,422,500 5,500
O3 - g2 2327 1,075,000
OAMRAHFALSG (AR Q8 ME ZA)
2,500,000 %1501 375,000
O AF=G (SHA AIOH MIHIZE, ALS)
2,500,000 %1402 350,000
OAI B A =G (AR AIR)
2,500,000 %1404 350,000
OHZI| nH 2 Ala 43,000
0= A WXl 100,000 %2501 25,000
04ld H2D)| Al 60,0002 *3007H 18,000
Oa%E AlEE 24 2L ] 280,000
0JILE RXILS 3,000, 000244270 A 126,000
0REH RXLE 1,000, 000242074 A 20,000
OHH&X &HA L X84
4,000,000 %179H A 68,000
OAIDEXI M| &% & mAl
1,500, 0002 *307H A 45,000
0JFE L HH=Xl 2 EHTHI(EHIDI S)
21,000,0002! 21,000
OHi#X & S22 AnE
500,00024 60 A 30,000
03 AlZSHY| 5,141 5,121 20
O3 - 2 4 L ALT AILS HH
1,428,000,00024%0 . 36% 5,141
405 XHAHEEH 1,800 5,400 3,600
01 AL SEFISH| 1,800 5,400 3,600
OateG 2E &Q/24cHat)| (PPA) 7
1,800,000 1CH 1,800
NLALE C522 WH A 200,000 200,000
401 Al&BIL20HY] 200,000 200,000
01 AIZHI 200,000 200,000
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SA: AolE
M HNSHAY|(AOtTI)
£l QIAR2AH|(SEINLSESIA) (ol & 2)
SA - BB BRI(E) - IRAY - BES ofleso e HIDE
O=pAZLEZ 150,239, 0002 %4 . 5% 6,761
O=pDALYLEZ 150,239,000 %3 545% 5,326
OL0IQUE)|ISERES
5,326,000 *12.95% 690
enE=LEE=1=] 150,239,0002*1.75% 2,630
OMBE RS 150,239, 0002 * 1% 1,503
SAZ(EINESEHSIA) 2,850 3,200 350
Her & XEs2t2l 2,850 3,200 A350
201 et 3FH| 2,850 3,200 A350
01 AtR2teld| 2,850 3,200 A350
OLIeHEH 018 =22
100,0002* 12 1,200
OFAMAIEZ I 0122
1,650,000 1,650
ot=ZAlE &XI 17,761,500 14,515,000 3,246,500
= 12,354,000
| 466,000
= 2,845,000
= 2,096,500
S0t EX(ZINHEESH) 17,761,500 14,515,000 3,246,500
= 12,354,000
| 466,000
= 2,845,000
= 2,096,500
o222 JUI(MUXIF) 2,634,000 269,000 2,365,000
= 1,844,000
= 395,000
= 395,000
401 Al&EBIZ 20| 2,634,000 269,000 2,365,000
= 1,844,000
= 395,000
= 395,000
01 Al&H| 2,634,000 269,000 2,365,000
Odt=22 HI(SUXI7)
2,634,000,000 2,634,000
= 1,844,000
= 395,000
= 395,000
SHE0ISo=™UI(E2=X17) 441,000 0 441,000
= 155,000
| 194,000
= 92,000
401 Al&EBIZ ST 441,000 0 441,000
= 155,000
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2M:
R EH -
(=R I

o
ool

HEE

SN - Z - SI(SH) - MRAY - BAS ol &re SH3eT HlRS2
| 194,000
= 92,000
01 AlZHI 441,000 0 441,000
O=EDISot+=SEBI(E+X17)
441,000,000 441,000
= 155,000
I 194,000
= 92,000
sHENSoI-=EEB(H 1K) 1,223,000 2,075,000 /852,000
= 1,007,000
= 216,000
401 Al&HIZLSOHY| 1,223,000 2,075,000 /852,000
= 1,007,000
= 216,000
01 Al&HI 1,223,000 2,075,000 852,000
O=EDISot+=S&BI(Z 1 XI7)
1,223,000,000& 1,223,000
= 1,007,000
= 216,000
sHEOISot=EEBI(CHEX ) 830,000 1,057,000 A227,000
= 581,000
= 124,000
= 125,000
401 AlEHIZLSOHY| 830,000 1,057,000 A227,000
= 581,000
= 124,000
= 125,000
01 Al&HI 827,012 1,057,000 A229,988
O=EDISot=S &I (THEXI7)
827,012,000& 827,012
= 581,000
= 124,000
= 122,012
03 A& 0HHI 2,988 0 2,988
O=EDHSot=S &I (THEXI7)
830,000, 000&*0.36% 2,988
sHEOISoI-=EEB(FEX ) 719,000 890,000 A171,000
= 503,000
= 108,000
= 108,000
401 Al&HIZLSOHY| 719,000 890,000 A171,000
= 503,000
= 108,000
= 108,000
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SA - HH - G(B1H) - NIRAY - BES Ol bl il aion HmE==T
01 A2t 716,411 890,000 173,589
Os01Z0HS5H+-E Y| (FEXI7)
716,411,000 716,411
=2 503,000
= 108,000
= 105,411
03 AlZ= 0 2,569 0 2,569
Os01Z0HS5H+-E Y| (FEXI7)
719,000, 000240, 36% 2,589
SIS BN =R {=E D) 865,000 500,000 365,000
=2 519,000
= 173,000
= 173,000
401 A28 2= 0HY] 865,000 500,000 365,000
=2 519,000
= 173,000
= 173,000
01 A2 861,886 500,000 361,886
Os01Z0+S5H+-E Y| (22XI7)
861,886, 0002 861,886
=2 519,000
= 173,000
= 169,836
03 Al&=CHYI 3,114 0 3,114
Os01Z0+S5H+-E Y| (22X 7)
865,000, 00024+0.36% 3,114
SHRZIY HE(AN SZot-HMeIAIE AEA) 1,331,000 879,000 452,000
=2 932,000
= 199,000
= 200,000
401 A28 2= 0HY] 1,331,000 879,000 452,000
=2 932,000
= 199,000
= 200,000
01 A2t 1,331,000 879,000 452,000
Odt+xel& &5 (A0 B2st4H2lAlL
AEARY) 1,331,000,0002 1,331,000
=2 932,000
= 199,000
= 200,000
ShxIZIE EE(AE SZol-HLIAE SEAY) 154,000 4,371,000 4,217,000
401 A28 2= 0HY] 154,000 4,371,000 4,217,000
01 A2t 154,000 4,371,000 4,217,000
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272,000
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340,500
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5,688,500

01 Al&H|
OdHe? 36t HelAlE &xl(=2X7)

6,562,500,000&
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S

H 1

6,562,500

6,562,500
5,012,000
272,000
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874,000

5,688,500

sHENSOISZ(AMEXIF)

oMW

500,000
300,000
100,000
100,000

500,000
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401 AIEHIZL20H
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100,000
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500,000

1,502,000
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O=HEDISot=SEBI(MSXI7)
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2,002,000
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500,000

1,502,000
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6,286,468
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CEXRAME (EIMEESTIA)

Y

HJ

4,651,887
758,849
3,893,038

4,663,399

SR NE (BB 28)

Y

HJ

3,761,199
758,849
3,002,350

3,811,199
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Y

HJ

867,700
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487,700

867,700

01 AFR2t2IH]

Ozt dutEIE ZA9

10
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o

100, 0002 %5L1% 15!
O=E=HII| ESHA =2=Z(20HL)
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05!
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R3S

800,000,000

O33ot=XHelAl4,
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30,000
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2,893,499

2,893,499
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2 ABtEZ I
HE: GlCRe)
Ct2: BIEE XA (SRINHSESS| ) (chol: i)
SN - BB S(BH) - NRAY - BES Ol bl b TmE==
J| 378,849
= 2,514,650
05 DIZIERZ 2,893,499 2,893,499 0
ORTol4HeIAlE 22ltEy
2,723,499,000 2,723,499
7| 378,849
= 2,344,650
O2ZNSZ2| N |(ARE HE)
85,000,000 274 A 170,000
SeXElAA (220t 29 2 22=E7) 890,688 852,200 38,488
307 G101 & 50,000 50,000 0
05 DIZIErZ 50,000 50,000 0
O2Tsl4HeIAL 21227
50,000,000& 50,000
401 AZHI 220 840,688 802,200 38,488
AIEH] 840,688 802,200 38,488
OdtHelsXl(Eae Ta) el
400,000,000& 400,000
ORT5I4HRIAIE JISEIEH( S Q8IHA)
128,988,000 128,988
O&H DTBl4HeAe g@E2 A3 2
-+ 19,000,000 19,000
OAHE Z2IEIEHRIAIE HRISHED 82
12,000,000 12,000
OGIXI ZZl4MIAlL 22/8t DX
11,000,000 11,000
OSERRIAAL MHA, SBIAA PSHIE
2l wxl 8,700,000 8,700
OAHE Z2IEISHRIAE SHAZ2EI 1
s 11,000,00024*1CH 11,000
OAHY ZTGIAH2IAE A5 B8 8
2 Xel 100,000,000 100,000
OAHY RTElEMIAL ASIR &K
2= 45,000,00024+2CH 90,000
OhtY Egt22IMIE SXE4
50,000,000& 50,000
O2Z5I4HR2IAIE TMS RAIE4
10,000,000 10,000
ZZHIANEX R (SEIHLSS3]H) 3,187,885 3,375,424 187,539
7| 794,455
= 2,393,430
IIEELHRIAE(SSHEAE 29) 2,795,1% 2.841,1% 46,000
7| 693, 134
= 2,102,062
201 B2 600,500 600,500 0
7| 160,000
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S HEIED
S St
ol SBHIAEXIJ (SEINESESIH) (ol & 2)
SA - FH - S2I(3I) - KIRAR - BaS Ol &bt b e
= 440,500
01 At22t2ltl 500 500 0
OIS DI} BHAR LG
100,000&%501% 13 500
° B329Y| 600,000 600,000 0
orspliv=] 600,000
0AHEIIZE LB HEIAIL(80m /L)
25,000,000 128 300,000
J| 80,000
2 220,000
02 ¥ HRIDIE2EZZHIAL G0/
50m/ &) 25,000,000 9% 122 300,000
J| 80,000
2 220,000
307 2I2+01H 1,746,6% 1,746,696 0
J| 533,134
2 1,213,562
05 QI2HR(ErS 1,746,6% 1,746,696 0
OJIE2L22XeIAlE 2H2ltHa| 1,706,6%
ONMEIIE2LBBX|AIE(80m /L)
1,024,170,770 1,024,171
J| 315,148
2 709,023
OUHEDIEE2La 3 AIZ(50m /L)
682,524,3402 682,525
J| 217,986
2 464,539
OIEE=ZBH2IAL 2Z=7|
40,000,000 40,000
401 A& HIL S CHY] 448,000 494,000 46,000
01 A&l 448,000 494,000 46,000
Sl Heldl 390,000
WWEIIERaESXelAld
20,000,000 128 240,000
oUePtsER33HelAld
12,500,000 128 150,000
O8&E=2 Heldl 20,000,0002! 20,000
OMEINFEEIEIH2AIE &I 3I|
015201 =2l 18,000,000 18,000
OURIVIZSER33HelAIE 28 S g
2Al 20,000,0002! 20,000
SXRIAL(BEXEIAE 29) 392,689 534,228 A141,539
J| 101,321
2 291,368
307 2I2+01H 344,689 344,689 0
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SM: ABIAEED
M glaTael
ol SBHIAEXIJ (SEINESESIH) (ol & 2)
SA - B - S9I(E) - RN - BaS ol b HIDZS2
B 107,321
= 243,368
05 DI2IRIE2 344,689 344,689 0
O=nHelAld Ze|tia|
334,688,620 334,689
p] 101,321
= 233,368
O=2LHelAld 21227
10,000,000 10,000
401 AI2HIZ 200 48,000 189,539 A 141,539
01 Al&H] 48,000 189,539 A 141,539
O=% 22XIF2lH| 2,500,000 2122 30,000
O=LXelAE SESX20| A3 DA
18,000,000 18,000
ZOIASE SEBEAY =2 1,017,003 1,104,525 87,522
p] 1,017,003
DAL 2| (FEINES ) 43,665 69,365 725,700
p] 43,665
AR N AR (R AL SE =2 22)) 43,665 69,365 725,700
p] 43,665
201 LBr29y] 43,665 30,460 13,205
p] 43,665
01 AlRZtelt] 32,445 19,568 12.877
OgragH| 31,787
0AA2BS R TR (0HH 2 735)
5,485,0002 5,485
9] 5,485
OAARAES o MYD| 28 L X2
9,342,000 9,342
p] 9,342
OHIA B 5,000,000 %144 5,000
p] 5,000
0H=F &M 70,000%50H 3,500
p] 3,500
00HLHEH 2 1,160,0002*6H 6,960
p] 6,960
oMY IEE Y 3,0002*5000H 1,500
p] 1,500
OFERHAID ZEY| AR}
658,00024% 13 658
p] 658
02 =22 11,220 10,892 328
OZZR2 2 XA 5,20
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2M: Aolg=E 1t
A olathel 2EETAY X
Chol: Zoagl 2el(+ZIHASESINA) (Crel: &)
S - ZE - SI(E) - KISAS - BES Ofl st e limE==]
0=Exte 285 Y NsSIAl
1,500,000 1,500
| 1,500
0ZAIZA ®IIQS
60,0003 *2I A*12& 1,440
J| 1,440
02ZAZ=A SRS
10,000&*2Jl A+ 12 240
| 240
0CCTV 2l OI2Z2 88,0002%25| M 122 2,112
| 2,112
OxXt&E= Y| 5,928
085l 1,5002+2002 | Ef* 122 3,600
| 3,600
=N 2,328,000 2,328
| 2,328
FOXIZAE (HZIHNEELSIAH) 973,338 1,035, 160 A61,822
| 973,338
B &AL 941,043 1,003,328 A62,285
| 941,043
402 BIZHRHE01 A 941,043 997,700 AbB6,657
| 941,043
02 QIZEXIEAIEE X (01X THE) 941,043 997,700 AbBB,657
OAE XA 343,500
& rRAES A 3,500,000 3,500
| 3,500
074 340,000,000 340,000
| 340,000
O3S =0IXIAALY
328,964,000& 328,964
| 328,964
Od=8 0N AL 246,811,000 246,811
| 246,811
O&a=RES 7S =02 AIY
21,768,000& 21,768
| 21,768
FRUXZAMSAIES2te 202t 32,29% 31,832 463
| 32,29
101 2124b| 30,917 30,454 463
| 30,917
04 J12t 22 RSB 30,917 30,454 463
OZF0IXIJ A DBRIA C124H| 30,917
00X RAMY DBRIA C124H|
80,240&*121x130 10,432
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SA: MEEZ D
ME: LML SATPHAY FX
Cr2: Z=OIR A (SEINHELHSH) (Cro|:&iel
SA - B O9(3) - NISAR - BaS Ol &b e e
I 10,432
0F=QIXIALR DBXIR 0121H|(SH)
80,2402%501%302 12,036
7| 12,036
0=y 80,2402 *101x322 2,568
7| 2,568
0FE2(SE) 80, 240250147 2,809
7| 2,809
020113882 27,843, 2802 *4 . 5% 1,253
7| 1,253
0HABEE 27,843, 280+3.545% 988
7| 988
0EIIQULEE 987 0442112, 95%+0. 5 64
p] 64
SR 27,843,280 21% 1. 75% 488
p] 488
AHEEE 27,843, 28024% 1% 279
7| 279
202 Oit] 1,378 1,378 0
7| 1,378
01 =LHoIdl 1,378 1,378 0
OFQIXIYAIY ZXAE BH
1,378,000 1,378
7| 1,378
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